TOWN OF APPLE VALLEY

Yucca Loma Road Widening (Project 2015-06)
BID OPENING: APRIL 18, 2024 @ 10:00 AM — TOWN CLERK'S OFFICE ANTICIPATED AWARD DATE: MAY 14, 20



	SEALED BID LIST
Company: Bid Amount:	I. E General Engineering Inc 1, 667, 321.20
Company: Bid Amount:	Onyx Paving Company, Inc 1,468,000.00 Low Bidder
Company: Bid Amount:	All American Asphalt 2,219,999.00
Company: Bid Amount:	

SECTION 300 - BID FORM (Addendum No. 1)

NAME OF BIDDER: ONYX PAVING COMPANY, INC.

The undersigned Bidder hereby declares that it has carefully examined the location of the proposed Work, and has read and examined the Contract Documents, including all plans, specifications, and all addenda, if any, for the following Project:

Yucca Loma Road Widening

We hereby propose to furnish all labor, materials, equipment, tools, transportation, and services, and to discharge all duties and obligations necessary and required to perform and complete the Project in strict accordance with the Contract Documents for the following TOTAL BID PRICE:

BID SCHEDULE

Item	Depositation	Unite	04	Unit Price	Total
No.	Description Mobilization, Demobilization, Bonds and Insurance	Units LS	Qty.	84,696.70	84,696.70
2	Storm Water Pollution Prevention Plans – Best Management Practices (BMPs).	LS	1	40,000	40,000
3	Cold Mill Existing AC Pavement, 0.20' Depth	SF	25,100	0.33	8,283
4	Sawcut and Remove AC Pavement	SF	54,790	0.85	46,571.50
5	Sawcut and Remove AC or PCC Curb	LF	2,006	9.60	19,257.60
6	Sawcut and Remove AC or PCC Sidewalk	SF	9,537	3.50	33,379.50
7	Sawcut and Remove AC or PCC Driveway	SF	369	4.30	1,586.70
8	Clearing & Grubbing	LS	1	100,000	100,000
9	Locate and Reset Survey Monument		1	1,100	1,100
10	Adjust Manhole to Finished Grade		6	2,500	15,000
11	Adjust Utility Box/Vault to Finished Grade	EA	2	3,000	6,000
12	Earthwork - Unclassified Excavation	CY	3,000	28	84,000
13	Earthwork - Unclassified Fill	CY	310	34	10,540
14	Earthwork - Export		2,690	24	64,560
15	Subgrade Preparation	SF	93,300	0.33	30,789
16	Placement of Base Material	CY	1,320	135	178,200
17	Asphalt Concrete Pavement	TON	3,393	120	407,160
18	Variable Depth Overlay	TON	350	120	42,000
19	PCC Curb	LF	54	18	972
20	PCC Curb and Gutter		2,000	38	76,000
21	PCC Driveway (Residential or Commercial)	SF	369	11	4,059
22	PCC Cross Gutter	SF	360	25	9,000
23	PCC Curb Ramp	EA	1	9,200	9,200

24	PCC Sidewalk	SF	10,912	6.25	68,200
25	Thermoplastic Traffic Striping and Raised Pavement Markers	LS	1	19,000	19,000
26	Remove Existing Traffic Sign and Post	EA	3	105	315
27	Relocate Existing Traffic Sign and Post	EA	3	250	750
28	Furnish and Install New Traffic Sign and Post	EA	18	410	7, 380
29	Traffic Control and Public Notification	LS	1	100,000	100,000

Bidders must provide pricing for every bid item.

28314.00015\41921969.1

The estimated quantities for unit price items are for purposes of comparing bids only and the Town makes no representation that the actual quantities of work performed will not vary from the estimates.

In case of discrepancy between the unit price and the line item cost set forth for a unit price item, the line item cost, calculated at the unit price multiplied by the estimated quantity, shall prevail and shall be utilized as the basis for determining the lowest responsive, responsible bidder. However, if the amount set forth as a unit price is ambiguous, unintelligible or uncertain for any cause, or is omitted, or is the same amount as the entry in the "Line Item Cost" column, then the amount set forth in the "Line Item Cost" column for the item shall prevail and shall be divided by the estimated quantity for the item and the price thus obtained shall be the unit price. If any of the above discrepancies exist, the Town may recalculate the bid price on the basis of the unit price and the bidder agrees to be bound by such recalculation. Final payment for unit price items shall be determined by the Town from measured quantities of work performed.

BASE BID PRICE (BASED ON BID SCHEDULE):

\$ 1,468,000 Base Bid Price in Numbers One million Four hundred and Sixty eight thousand dollars even Base Bid Price in Written Form

The undersigned agrees that this Bid Form constitutes a firm offer to the Town which cannot be withdrawn for the number of Working Days from the bid opening stated in the Notice Inviting Bids from the bid opening, or until a Contract for the Work is fully executed by the Town and a third party, whichever is earlier.

The Contract Time shall commence on the date stated in the Town's Notice to Proceed or as stated above. In no case shall the Contractor commence construction prior to the date stated in the Town's Notice to Proceed, or before providing the required bonds and evidence of insurance.

Bidder certifies that it is licensed in accordance with the California law providing for the registration of Contractors, License No. 630360 , Expiration Date 10/31/2025 class of license A,C12 . If the bidder is a joint venture, each member of the joint venture must include the above information.

The undersigned acknowledges receipt, understanding and full consideration of the following addenda to the Contract Documents.

Addenda No. 1		
Project No. 2015-06	12	SECTION 300 - BID FORM

Addenda No	
Addenda No.	

SECTION 340 - DESIGNATION OF SUBCONTRACTORS

In compliance with the Subletting and Subcontracting Fair Practices Act of the Public Contract Code of the State of California, each bidder shall set forth below: (a) the name and the location of the place of business, (b) the California contractor license number, (c) the Department of Industrial Relations registration number, and (d) the portion of the work which will be done by each subcontractor who will perform work or labor or render service to the Contractor in or about the construction of the work in an amount in excess of one-half of one percent (1/2%) of the Contractor's Total Bid Price. Notwithstanding the foregoing, if the work involves streets and highways, then the Contractor shall list each subcontractor who will perform work or labor or render service to Contractor in or about the work in an amount in excess of one-half of one percent (1/2%) of the Contractor's total Bid Price or \$10,000, whichever is greater. No additional time shall be granted to provide the below requested information.

If no subcontractor is specified, for a portion of the work, or if more than one subcontractor is specified for the same portion of Work, then the Contractor shall be deemed to have agreed that it is fully qualified to perform that Work, and that it shall perform that portion itself.

The Town requires the Contractor to perform at least 51% of the Work with its own forces and equipment.

Name of Subcontractor	Location of Business	Work to be done by Subcontractor	CSLB License Number	DIR Registration Number	% of the Work
Ense Land Surveying	orange, CA	Survey	LSUN	100001533	1.81%
PCI Striping	Azuza, CA	Striping	415 490	1000813536	1.99%

Project No. 2015-06

Location of Business	Work to be done by Subcontractor	CSLB License Number	DIR Registration Number	% of the Work
-orange, CA(CIC)	Survey Cic	LSUII-CIJ	1000001533	٨
		Location of Business Subcontractor	Location of Business Subcontractor Number	Location of Business Subcontractor Number Number

Name of Bidder ONYX PAVING COMPANY, INC.
Signature
Name and Title COREY R. KIRSCHNER - CEO, PRES, VP, SEC, TREA.
Dated 4/16/2024